Multlpiylng by
thousands

Name 3
vl \"

Caught in the Web

Why did the

spider join the o,.-h %

baseball team?

What To Do

------------------------------------

~To find the answer 10 the riddle,
solve the multiplication prob-
lems. Then, match each product -
with a letter in the Key below.
Write the correct letters on the
blanks below.

@ 1.000x1= G 6.000x24=

© 2,000x12= € 7.000x30=

© 3,000x10= _ € 8,000x32=

O 4,000x13= ©) 9.000x40 = ]

© 5.,000x20= { 7,500 x50 =

Rey

56,000 ... ... H 65,000 ....nn. M 30,000 .1eeur- c !

1,000 ......-- [ 144,000 .. .ovne- T BTE,000 . evn.n c

265,000 ......-. B 25,000 ..-no-o N 10,000 ... Y
360,000 .......- F 256,000 . ...-n L 100,000 .. ....-. A i
210,000 ........ E 90,000 ........Q 24,000 ... 5 |
AR LA BT e el e prnTy frv..wp.:-g:f;\a--sn’%
Riddle
Answer: 10 ¢ i
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